Test Booklet Code & No.
YYIUAERT IS 9 F.
Paper-II1I

HISTORY

Signature and Name of Invigilator

1. (Signature) .....cccoeeeeervrenienrieereereeeeeeen.

MAY - 10316

Time Allowed : 2% Hours]

Seat No.

(In figures as in Admit Card)

SEALINO. e

OMR Sheet No.

(In words)

(To be filled by the Candidate)
[Maximum Marks : 150

Number of Pages in this Booklet : 40

Number of Questions in this Booklet : 75

90: 21

10.
11.
12.
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on the top of this page.

This paper consists of 75 objective type questions. Each question

will carry fwo marks. All questions of Paper-III will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(it) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(iii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.
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If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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HISTORY
Paper 111

gyureht 111
Time Allowed : 2% Hours] [Maximum Marks : 150

Note : This paper contains Seventy Five (75) multiple choice questions. Each

question carries Two (2) marks. Attempt All questions.

GOl : A1 JRAULRd THRU UdeX (75) SgUdEl U Sed. Wodd URAIn & (2) T

T, T YA gred.

Early food-producing societies
(farming societies) emerged in
Baluchistan and northern fringes of

Vindhyas in :

(A) 1000-500 BCE
(B) 7000-3000 BCE
(C) 3000-2000 BCE
(D) 2000-1000 BCE

The following scholar did not

excavate any Harappan site :
(A) Rakhaldas Banerji

(B) Madho Swarup Vats

(C) Daya Ram Sahni

(D) V. Gordon Childe

ST 3G IO (RAdl) Geerrrean
SAfEE St foe qefarean S
ElSi

(A) 3H.Y. 1000-500

(B) 3.9.9. 7000-3000

(C) 389, 3000-2000

(D) 249.9. 2000-1000

AT GINhRT™  hIVATE]

gSW HEHAdeAl TEE IEd Hal
L.

(A) @R sl

(B) & WWEY O

(C) & T wrel

(D) = Tieq free/amee
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The Harappan seals were made from
3 ml?ﬁaﬂg\.[_q.[ ....................... m

the material named :

I T
(A) Chalcedony

(A) TESH
(B) Steatite

(B) Eiere
(C) Quartz

(C) g
(D) Lapis-Lazuli

(D) -
‘Adipurana’ was composed by :

4‘ W ........................ ?:“:ﬁ. Wﬁ

(A) Somadeva

(A) 9mca
(B) Jinasena

(B) =&=
(C) Varahamihir

(C) =NEHER
(D) Ashvaghosha

(D) ASTET
In routine time-table of King,
Kautilya divided night into ............. 5. el feTwAmed Fifeca Wi
parts. ....................... Q:ﬂT]' .a})ﬁ.
(A) Five (A) [T
(B) Six (B) w1
(C) Seven (C) wrd
(D) Eight (D) 33




According to Jataka stories, which

of the following officers were

collecting taxes from the people ?

(A) Rajjuka and Dandin

(B) Bhagkara and Bhagaduta

(C) Tundiyas and Akasiyas

(D) Purohita and Rajacharya

Which new officer was appointed by

Ashoka during his reign ?

(A) Pradeshik

(B) Dharma Mahamatra

(C) Yukta

(D) Rajuka
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ST SHATTHR Ahh ST T Tedl hvaTs
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(A) TS 9 gfreq

(B) HMTRT 9 NG

(C) a9 9 i

(D) qifed & TS=E

STINHRT  ATIIT USTRTATA  h1 0T

AR FAM HI[E il ?

N IHEED

(B) & Hem@=

(C) I

D) =
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The following site doesn’t have

rock-art :

(A) Maski

(B) Bhim-betka

(C) Piklihal

(D) Daimabad

Which of the following is not a part

of Bhartrihari’s Trishataka ?

(A) Niti Shatak

(B) Shringar Shatak

(C) Vairagya Shatak

(D) Achar Shatak
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(A) TR

(B) ftHeEeht

(C) Tuferetera

(D) TEHIER

TR IV eed=al T STaehT=

O ATEr ?

(A) =t TaeR

(B) TR Ik

(C) Y I

(D) =R Tdh




10. Which of the following pairs is

11.

correctly matched ?

(A) Samudragupta — Allahabad

Pillar Inscription

(B) Skandagupta — Bhitari Pillar

Inscription

(C) Buddhagupta — Eran Stone

Pillar Inscription

(D) Chandragupta — Hathigumpha

Inscription

Theory of ‘Shunyawada’ is

attributed to :

(A) Upali

(B) Anand

(C) Nagarjun

(D) Bavari
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10. ETefiadR! HIORT SISl A 3R ?

(A) IETC — STARER WY

(B) ¥ha@ — il W@

(C) FE@ — TH TEU W

(D) IS — wew Reer

11. yacrE fagume 99 women fea

S ?
(A) STt
(B) 2TFg

(C) TSI

(D) e

[P.T.O.



12.

13.

Who employed broken men theory

to explain emergence of

untouchability in India ?

(A) G.S. Ghurye

(B) Dumont

(C) M.N. Shriniwasan

(D) Dr. B.R. Ambedkar

According to Dr. Ambedkar who was

the author of Manu Samhita ?

(A) Vaivswat Manu

(B) Vyas

(C) Valmiki

(D) Sumati Bhargav

12.

13.
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ARAT ST IAT ST L]

FHLIHEEST GHSTEEd dieh (ST T9)

fogy@ wol Arear ?

A) . .

(B) =M

(C) Tq. TA. #ifvarE

(D) 1. &l M. AESHT

fafeett ?

(A) SEed T

(B) =4

(C) dfeHeht

(D) gHdr ArE




14.

15.

Which of the following Rashtrakuta

rulers patronised Jainism ?

(A) Dantidurga

(B) Krishna II

(C) Amoghvarsha

(D) Krishna I

Which of the following historians

has depicted Gupta age as golden

age of India ?

(A) Romila Thapar

(B) D.N. Zha

(C) R.C. Mazumdar

(D) R.S. Sharma

14.

15.
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TEATCTIRT IV TSgehe TSI SIEHTE

e foem ?

(A) g

(B) ™01 gHU

(C) THEE

(D) Fo0 digan

ETeedsh! HIoel Sfagaesi™ Tw

hTdlAT  HIATHT gavfwao' UL

faarar ?

(A) UM 9T

(B) . W. =

(C) IR &l AYHIR

(D) 3. TH. 3
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16.

17.

Which of the following is not the

feature of Indian feudalism ?

(A) Lord-Serf relationship

(B) Use of extra economic coercion

(C) Land grants as Agrahara and

Brahmadeya

(D) Localization of trade

Who was the adoring deity of Alvar

saints ?

(A) Shiva

(B) Shakti

(C) Vishnu

(D) Ram

16.

17.
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a
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(A) THI-ygE Hay

(B) 3Ty Tessiir=n STecid

(C) 3TER 9 saled MM THIA

(D) SATIRT T eh R

IR Faret g Sadr s ?

A) o=

(B) vm&iT

(C) feroyy

(D) ™
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18.

19.

The head of the military department
during Delhi Sultanate was called

as :
(A) Arz-i-Mumalik

(B) Sadr-us-Sadur

(C) Barid-i-Mumalik

(D) Amir Munshi

‘Vishti’ is referred as ................... .
(A) King’s share

(B) A coin

(C) A unit area of land

(D) Forced labour

18.

19.
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o (a) [a

lqoedl HedAden|oold  <1beh|

fayrm=a

THEe e Ss 7
(A) TSI-3-HATCH®

(B) 9I-39-8X

(C) ={ig-3-HHreieh

(D) AT 7=t

ot ®moS w2

(A) TST=T 91

(B) TH A

(C) SiftHT= &= Teheh

(D) SSfa

20. Which Mughal Emperor had 20. HITAT HEA FHRM AT
introduced the ‘Duaspa-Sihaspa’ in TR g - foee e e
Mansabdari system ? w2
(A) Akbar (A) 3HR
(B) Jehangir (B) S@IfR
(C) Shah Jahan (C) RTBTSIgm
(D) Aurangzeb (D) SRS

11 [P.T.O.



21.

22.

The factor mainly responsible for
widespread revolts by the Jats, the
Satnamis, the Bundelas and the
Sikhs after the reign of Aurangzeb

was :

(A) The reactionary policy of

Aurangzeb

(B) General discontent of the

masses

(C) Agrarian crisis in the Mughal

Empire

(D) The wars of succession and the

consequent political crisis

Which one of the following Sufi sects
adopted itself most to Indian

conditions ?
(A) Nagshabandi
(B) Quadiri
(C) Suharawardi

(D) Chishti

21.

22.
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STRITSIEIRI el e, T, Jae T

for@ A Felgy wheledl SIS hIvwI

g HEAd: SAERR Bl ?
(A) SIS Fiem R
(B) SHawHe  STEHd

(C) Hod FETAMEA Trdeaase™

it

(D) aRTAr= g8 o e fEfo

ool ASThid 3T

IR aRfEre |aitees e Som

T 99 HIUE@ ?
(A) TerTsic]
(B) @t

(C) gauasl

(D) vt
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23.

24.

What was meant by ‘Amaram’ in the

Vijayanagar Empire ?

(A)

Lease system of cultivation

(B)

Territory assigned to military

chiefs

(C) Lands donated to the Brahmins

(D) The chief judge after the king

In what way did the internal
administrative system of the
to the

Mughals contribute

disintegration of the Empire ?

(A) The Nizam hastened the process

of administrative collapse

(B) It was highly centralized and
could not be properly managed

by incompetent rulers

(C) The Rajput chieftains again

became powerful

(D) There was no proper co-
ordination among the depart-

ments and the provinces

23.

24.
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ToeTR gETSETHe ¢ AHEEn’ 31e

BId g ?

(A) SANTIEET Had U UgEd

(B) @&k gH@EM foar Tiotel qep@

~ N 0 o

[QeAcAl S{HA

(C) SITETOTT

(D) TS R H&A AR

e ST TRTETIGEd ST

faeeammed KT YRIE AT

feat 2

(A) TH=IMH™ YR ga-rean fsha
T et
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qad] TRl e AT

SHel A
(C) USTqd TS qA: TRKIRMed sl

(D) TaumT smfor HeemHe HIvaR 9=

RE
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25.

26.

What is ‘jarah’ ?
(A) Awarding the privilege of

collection of land revenue to the

highest bidder

(B) Collecting land revenue from

temple lands

(C) Dividing the land on the

pattern of cultivation

(D) All of the above

Who among the following believed
that architecture, agriculture,
tailoring and weaving were

“necessary crafts” ?

(A) Ibn-Khaldun

(B) Ibn-ul-Arabi

(C) Ibn Sena

(D) Al Jabr

25.

26.
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‘TR WIS e ?

[a N0

(A) STET=ET st SATeomreT HRISge =

fogronfaeR <o

(B) wfetren SR Saarn aga

HL

(C) TTANTEE=a JUIATHATS ST

RO HT0

(D) o T

WTeATeTteh! IO T, Sdl, fydieRm

Arfor faurshTd AT STATATISR  FAAl

AT GROT SesTelt Bl 2

(A) o1-Tegd

(B) s&1-3c1-3Tat

(C) 3=1-T

(D) 3TA-Sio
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27.

Who was the author of “Travels in

MAY - 10316/II1—A

27. oA AHSAT YA hiof fafset ?
the Mughal Empire” ?
(A) Wihlzd afH=
(A) Francois Bernier
(B) Trertema A=
(B) Niccollai Mannuci
(C) 3fd &
(C) Abbe Carre
(D) Francisco Pelsaert (D) SIR=T Hese
98. The Jahaz Mahal is in ............ | 28 ‘SEemEA’ ®IS eME 2
(A) Dhaka (A) <@rhi
(B) Mandu (B) Hg
(C) Chaul ©) =
(D) Vengurla .
& D) e
29. The play ‘Matta-vilas-prahasana’ _
29. ‘wHafgeTEyedd’ ® Aes wion fafead ?
was authored by .................. .
(A) &
(A) Harsha
B) TSl TS
(B) Raja Rajendra ®
(C) Jaidev (C) S
(D) Mahendravarman (D) wegew
15 [P.T.O.



30.

31.

What is ‘pietra dura’ ?

(A) A place where royal ladies stay

(B) The technique of inlaying

mosaic with hard and precious

stones

(C) Art of building domes on the

Tombs

(D) Miniature paintings on the wall

Where is the ‘Adhai-din-Ka Jhopra’ ?

(A) Ahmedabad

(B) Agra

(C) Jodhpur

(D) Ajmer

30.

31.
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fren =’ B i ?

(A) TS Tomm=n ugvare fowmm

(B) 9THEd ®WIHS soad o

(C) TFHEREAMER FFRT ST FHITI

(D) fydier= o5 fasrehat

FeR-TeT-h IS =S 38 ?

(A) STEHIER

(B) s

(C) SieqY

(D) 3TSER
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Paragraph followed by questions

(Q. No. 32 to 34) :

Mansabdars who were granted land
revenue equivalent to their salaries
were known as jagirdars, and the
grant was known as a jagir. The
majority of nobles were jagirdars, but
there were a few, usually of the
lower ranks, who were paid cash
salaries out of the state treasury :
such Mansabdars were known as
naqdi Mansabdars. Rajput princes
who joined the Mughal service were
Mansabdars, but were, in addition,
given back part of their own
kingdoms as watan jagirs. This
meant that, within these watans,
they were still the rulers, with the
right to organize cultivation, collect

revenue, etc. As part of the Mughal

MAY - 10316/II1—A

TR=8TaTr IMusd Uya fauma smed

(T k. 32 9 34) :

AT Yedl 3T S TenT=a1 TIEdeh

HEY UM SIHA SRR HIe Firete

ATESRERIA STMRER BU[A $laed S
B4 T & SAfHATen SR = 37

SgUEd WER § WMRER 2. 9U1 &

3 FE TER 3THd hi SHAMT T

fASIAYA et TR et S 319, 379

TERAT Tohe] TIH6aER Bedd 5d 319,

o HIAE e SR TS TTa!

. . o
AR _'iaﬁ Al o=l ISl enlel

A & o SR WA el Sa 379

T G ST Bl Sl SIS TRRTEEy

fa [N ~

ATl S Y01, Hee Ml v

TR SHR STHeT T T . Tod

FER oH He& BUE & HaEfEd

TIEaCNTE] SoeeRigl IR grerel anTd

3. qu@ ToATA] ATl T
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32.

nobility, they were also regular
Mansabdars, who were posted to
different parts of the Empire, and
who were granted jagirs like other
Mansabdars. However, when one
ruler died, the Mughal ruler had to
confirm the next ruler, and this new
ruler was not necessarily the one
chosen by the former king.

Who was Jagirdar ?

(A) A Mansabdar who was paid in

cash

(B) A Mansabdar who was given
a grant of land revenue

equivalent to his salary

(C) A Mansabdar who was posted
in North India

(D) A Mansabdar who was posted

in the Deccan

32.
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o oY ~ NN
IMHATET ST Yl 9 gal

TIHESIIYH SIFR. fAadl AEeeR

TEUAE 4 HTH uTed. aenfa Aser

TEIel Uegehal Hog ued 379 del

o

e FTEeen SRRt

ERECNE]

AT A", 7 OITATHERIT g

TSR faei=n ldd Il el

RS gl

TIARER &0 8 ?

(A) TR TR Y SO JAHeER

(B) et s Efehiea g

qord ST Hegerd TR e

A TSGR

(C) 3W YRAHED THAAT HTIIGR

(D) TEETHE THAA HAHEER
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33.

34.

The system of watan jagirs was

applied to :

(A) The Rajput nobility

(B) The Maratha nobility

(C) The Irani nobility

(D) The Afghan nobility

The grant of the watan jagirs proves

the cooovveeveennn. )

(A) Independence of the Rajput

rulers

(B) The tributary status of the

Rajput rulers

(C) The importance of the Rajputs

in the Mughal system

(D) The exclusion of the Rajputs

from the Mansabdari system

33.

34.
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FATSIIICE! Tgd a1 @F] 2B

(A) TSTYA STHR

(B) HU3T AHR

(C) AU 3TER

(D) AHON TR

AT QO § T hid ¢

(A) TSqd T T

(B) TSqd TSI HisTorshe

(C) oaeEewddia TS Hew

(D) T HEGR e ST aTeX

EEl
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35.

36.

The battle of Wandiwash was fought

between :

(A) the English and the French

(B) the English and the Marathas

(C) the English and Hyder Ali

(D) the English and the Carnatic

Nawab

Who founded the Asiatic Society of

Bengal in 1784 ?

(A) Warren Hastings

(B) William Jones

(C) Henry Princeps

(D) W.W. Hunter

35.

36.
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f<aTeTel oels sareAd el sl

(A) 3US F W

(B) 3USI 9 WS

(C) SUS o TeL3Tell

(D) USI 9 FHAEHhl TG

1784 &1 STeT= UyTATfesh ArEEest

TIMYAT IO el 2

(A) 9T LT

(B) fafe=m <Sirg

(C) T o=

(D) T, . X
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37. Match the following and select the 37 e o St Erele {icﬁdichlq\d T
correct answer from the codes given
below : = fHaer
(I) “Go back to the (a) Poet Igbal
(I) oA<¢HS WA T (a) FHt o1
Vedas”
(ID  “We must (b) Swami (II) A aTEREd  (b) @ foderg
conquer the Vivekananda
sfesfifaaro stmaor
world through
our spirituality EUASET RIS
and Philosophy”
. , (I11) fracteft sFar (c) @ AT
(ITII) “Tryst with (¢) Swami
destiny” Dayananda (IV) shrors fieee (d) ST e
Saraswati
(IV) “Inquilab (d) Jawaharlal () Sl
Zindabad” Nehru HadiF
(e) Mahatma
Gandhi (I dIi dmm av
Codes W © ® @ @
(H d (I av)
(A) (o) ) (d) (@) B) (@ (c) (b) (e)
B) @ @ b () © © @ ® ©
€ @ @ 0 (©
D & @ © @ D) ® @ © @
21 [P.T.O.



38.

39.

Who said “Patriotism is religion and

religion is love for India” ?
(A) Bankim Chandra Chatterji
(B) Bal Gangadhar Tilak

(C) Vivekananda

(D) M.G. Ranade

Which among the following is not
a reason for the requirement of
increased working capital credit for

commercialization of agriculture ?

(A) Commercial agriculture needed

more investment

(B) Payment of revenue was in kind

(C) To buy food before harvest, the
peasant needed to borrow

money

(D) Cash crops were traded over
long distances, so there was a

greater need for ready money

38.

39.

MAY - 10316/III—A

‘RN BT gH e omfur uH WU
URAEEAD 99’ 39 vl WA ?

(A) ShiH=g TSt
(B) oA TR feessh
(C) faaemme

(D) TH.ST. TS

T SRR LS TWedcdl HiSear=
STARIET STATIHAT STHUAT WelaTueh!

HIUd HRU Togd 2

(A) SATA FESCARATAT STEAT=AT
qedar= TR Bt
(B) IEIEUM HI IuATEl W Bt

o

(C) Il HILOATRTER UTEREr shildl

SITR=ATAT holig TFRAT EATAT

ANTd

(D) Tt fashi=n =R W B
STHCATRIOT  Tem= Sqereeit=t
frere B
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40. Gandhiji’s Champaran Movement

41.

was started for :

(A) The Security of the Rights of

Harijans
(B) To protect the Rights of Women

(C) To solve the Labour Problems

(D) To solve the Problem of Indigo-

workers

Rabindranath Tagore surrendered
his knighthood to the British

because of :

(A) Partition of Bengal

(B) Non-co-operation Movement

(C) Jallianwalla Bagh Massacre

(D) Civil Disobedience Movement
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40. ST IRV Fds SIS ge

41.

I o

(A) BRSHTAT &9k TRATUMEIS!

(B) wfect=a gk TRETUTETS!

(C) IR TR WU Era!

(D) 7 SRR FHEd el

MY W gd agay TRt

fofesm wa et HROT :

(A) T

(B) 3HEPR TddD

(C) STefta=are s OGS

(D) TfTd HIEQT=N TBdes
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42. Who was the President of the

43.

Congress when it passed a resolution
declaring “Poorna Swaraj” to be its

future objective ?

(A) Motilal Nehru

(B) Balgangadhar Tilak

(C) Jawaharlal Nehru

(D) Aurobindo Ghosh

The first session of the All India
Trade Union Congress held in
Bombay in 1920 was presided

over by :

(A) V.V. Giri

(B) Lala Lajpat Rai

(C) Jawaharlal Nehru

(D) N.M. Joshi

42.

43.
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‘quf TS’ ¥ STTel SEed STe o

SR SHLOMY 9 hiUH U9 hall dal

ST T HIU BA 2

(A) A S8R

(B) 9es MR feeh

(C) AR 8w
(D) sRfe< =™

HIVTAT ST 1920 o Sl Y
el 37t sfean 2 e S ufea
AfEAYE IR gsd ?

A) =& = iR

(B) el <rsad T

(C) SaTeldd 8%

(D) 9. |1 S
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44. Who of the following was not an

extremist leader of the Indian

National Congress ?

(A) Lala Lajpat Rai

(B) Balgangadhar Tilak

(C) Gopal Krishna Gokhale

(D) Bipin Chandra Pal

MAY - 10316/II1—A

44. WATURT B GRAE TEE RO

STeTHdae! Ad Teed 2

(A) Tl rSad T

(B) =T TR e

(C) U FHST e

(D) & =5 9

45. Who was associated with the | 45. 99l eRul faQierear @ifedd i
struggle against Mulshi Dam ? HEWET BId ?
(A) Keshava Rao Jedhe (A) HIEE Y
(B) Shankar Rao Deo (B) YW@ <9
(C) Senapati Bapat (C) VATt a9e
(D) Bhaskar Rao Jadhav (D) EHWE STeE
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46.

47.

48.

Who among the following is not part

of the Congress Socialist Party ?
(A) Acharya Narendra Deo

(B) Ram Manohar Lohia

(C) Jayaprakash Narayan

(D) Keshav Rao Jedhe

Who the

started Bhoodan

Movement ?

(A) Kakasaheb Kalelkar
(B) Achyut Patawardhan
(C) Jayaprakash Narayan
(D) Vinoba Bhave

The Morley-Minto Reforms of 1909

provided for the first time as ....... .
(A) Separate state

(B) Separate communal electorate
(C) Separate educational system

(D) Dominion status

46.

47.

48.
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EcATeTdeh] ShIvT ShiE=a THSIERT Treid

TR Feed 2
(A) = TE 2E
(B) TH HAEL wfea
(C) SEYRRIT R
(D) HyeE AY

IS FBes IV Y& hell ?

(A) HThTETET HTIThT
(B) 3T=Hd Uead

(C) SEAYhRT AR
(D) forrsn et

190941 Hiei-TH GuRom ufgeaieT ™
LI <

(A) WA T

(B) SHGSTYRG sl HASREH

(C) woas Tereforagerdt

(D) HTHTSHISTAIG oy
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49. Arrange the following events in

correct chronological order :

(1) Dandi March

(2) Lord Irwin’s Declaration

(3) Communal Award

(4) Gandhi-Irwin Pact

MAY - 10316/II1—A

49. I HIAHHTER T HA ASH

LU

(1) el e

(2) wre sad =oomes
(3) I faret

(4) -3 IR

(A) (1), (2), (3), (4) (A) (1), (2), (3), (4)
(B) 4), (3), (2), (1) (B) (4), (3), (2), (1)
(C) (D), 3), (2), (4) (C) (1), 3), (2), (4)
D) (2), (1), (4), (3) D) (2), (1), (4), (3)

50. The Government of India Act of | 50, Yyrg T sERY I AT FOMW 9RG
........................ separated Burma from SRR HE U A Sl
India

(A) 1909
(A) 1909
(B) 1919
(B) 1919
©) 1935 (C) 1935
(D) 1937 (D) 1937
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51. Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R) :
Assertion (A) :

The congress decided to boycott the

Second Round Table Conference.
Reason (R) :

The British Government refused to

grant complete Independence for

India.

In the above context, of the above
two statements which one of the

following is correct ?

(A) Both (A) and (R) are correct and

(R) is the true explanation of (A)

(B) Both (A) and (R) are correct but
(R) is not the true explanation

of (A)
(C) (A) is correct and (R) is wrong

(D) Both (A) and (R) are wrong

MAY - 10316/III—A

Wete faemieRt T 929 (A) T8 307

T A W (R) 3R
T (A) ¢

THITH T TeTHs] TREQeR SIfeshir=T
o Sqa.

WEEHOT (R) :

fofeer TXRA wRaTen ol W& <o

TR e

71 faumr=n weyfd qEais! HIvd

faum 9rg e 2

(A) T 9 TRIH GI=l arg R,

T (R) § (A) & I1T TIohT]
3T

(B) T o TISHIO Sl AT 3R,

U7 (R) § (A) = AT TR0 et

(C) (A) &9 B A9 3Me 9 (R)

T § g SR

(D) (A) 371 (R) S8 =k 3Tled
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52.

53.

“Farasi Prakash”, the Persian-

Sanskrit dictionary, was compiled

by :

(A) Krishnadasa

(B) Haridasa

(C) Purandaradasa

(D) Jaswant Das

Who argued that facts and

interpretation are inseparable ?

(A) Leopold Von Ranke

(B) V.K. Rajwade

(C) E.H. Carr

(D) James Grant Duff

52.

53.

MAY - 10316/ITII—A
‘Tt - ® ueE-ghd Y-

(A) FEIETH

(B) BRe™

(C) JERH

(D) S&aEd g9

qLy iy e § AfauTsa 3Ted 3™

A U ASA ?

(A) fasides ®wH TH

(B) fa. =1 UsEre

(C) 3. TA. &R

(D) S e =H
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54.

55.

Which among the following is the
correct statement about Arnold

Toynbee’s theory ?

(A) Decline of civilization has
three stages : breakdown,

disintegration and dissolution

(B) Decline of civilization has
three stages : disintegration,

dissolution and rebirth

©)

Decline of civilization has
two stages : disintegration and

dissolution

(D)

Decline of civilization has no

stages

Which of the following historians
was the first to argue that caste has

a material basis ?
(A) Irfan Habib
(B) R.S. Sharma
(C) A.S. Altekar

(D) V.R. Shinde

54.

55.
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iee rams=a fagidrersa arg faam

oA ?

(A) TSI BN T <0 STFad —

Hred qeul, foees anfur fommn

(B) TEhdr=A g A9 T A —

forere, fommer & gesSiia

(C) GEHdr=A1 TN S W A —
faees a famm

AN

~eldlid <hieglel

(D) H&hdT=AT 0

HdAId

STetert Hifderaret R 3Fed de

a N A = o = o *
CllctletYenl enlVicd] sldalden R4 Yleedlgl

Iqfeed el ?

(A) THME el
(B) #R. TH. IHi
(C) T TH. STeHl
(D) =&. R B
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56.

57.

58.

Who opined that “all history is

contemporary history” ?
(A) EH. Carr

(B) Croce

(C) Hegel

(D) Karl Marx

Mare Bloc and Lucien Febvre were

associated with .................... .

(A) the Romanticist School

(B) the Annale’s School

(C) the Prussian historiography
(D) the Neo-Marxist historiography

The book — ‘Rise of Maratha Power’

was authored by ................... .
(A) R.G. Bhandarkar

(B) Vishnushashtri Chiplunkar
(C) M.G. Ranade

(D) D.K. Karve

56.

57.

58.
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‘Td sfaerd guehTey A eredl’ 3™
g o " ?

(A) 3. TH. &K
(B) %Y

(C) B

(D) 1ol wE

Al SAleh o TAdd haeel hemel

Tefad e ?
(A) T=EAEE! S

(B) 3 9TRen

(C) iy sfasmereryas

(D) TIHERAR] SfagrIE TS

WISAT=AT Oxia1 3¢ § Y& AiA]

fafeat -

(A) R. Sf. AR
(B) forsuemestt ferdegoent
(C) wa. . IS

(D) €. &. ®d
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59.

60.

The hypothesis of ‘the Drain of
Wealth’ was first propounded

by :

(A) Dadabhai Naoroji

(B) John Strachey

(C) Gopal Krishna Gokhale

(D) Lala Lajpat Rai

Who used Gramsci’s theory of ‘War

of Position’ and ‘War of Manouevre’

in the writing of history ?

(A) Sumit Sarkar

(B) Bipin Chandra

(C) Satish Chandra

(D) Parth Chatterjee

59.

60.
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ek | fagema vl Arear ?

(A) TRIIE RIS

(B) A =t

(C) TYTCTH™I T

(D) <rer <rsad T

eeiten ‘yften g5 snfor ‘ufasren

I§TA Fehead' sfaere fafear shrof

e ?

(A) FHId THR

(B) faftm =g

(C) FdleT =gl

(D) e =S
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61.

62.

Which tradition of historical thought

upheld substantialism and

humanism ?

(A) Arabic

(B) Indian

(C) Greek

(D) Asian

In which of the following theories

do we find the concept of “Surplus

value” ?

(A) Positivism

(B) Idealism

(C) Marxism

(D) Liberalism

61.

62.
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e faemr= wven WA ggidarg

9 HEIAEIRTET YT el ?

(A) 3Tt

(B) YIRG™

(C) W=+

(D) aTferre

oo

AN A = o d ‘
ClldlctYen] enlVIcdl [HASIld — SHAldler

gea’ & oo foesd 2

(A) geaemeener

(B) 3TeRfamEt

(C) HRRiaTeT

(D) SERHETET
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63.

64.

The author of the book ‘Social

Contract’ was :

(A) Voltaire

(B) Lenin

(C) Rousseau

(D) Churchill

The socio-economic and adminis-

trative system that emerged in

Europe after the 5th century A.D.

was known as the .......ccoeevueeennn.e. .

(A) Manorial system

(B) Byzantine system

(C) Commenda system

(D) Roman judicial system

64.
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(A) Bl

(B) «ifH

(C) &4

(D) =fda

AT el IAHHa ISl ST

TSR - 2T o URTehig Saaede

(A) TN STaw

(B) SIEIeTeT SHeEel

(C) HHST HaE

(D) U9 =T FEE
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65. Durand line was between : 65. YIS HHERST RO UM 38 7
(A) British India—Russia (A) fafeer sfean—fimn
(B) British India—Afghanistan (B) Tafew sfeai— st
(C) British India—China (©) fafee sfea—=ia
(D) British India—Nepal D) i a3
66. The book “History of the Decline and N
Y 66. T FHEAAT |/™ 9 TaAren sfag™
Fall of the Roman Empire” was R .
T Sl W@ Hio ?
authored by .............ceoee. .
(A) TEag fieA
(A) Edward Gibbon
(B) ffeteat Mesieny
(B) Oliver Goldsmith
(C) e sl
(C) Lord Acton
D) G.R. Elton (D) M. R Te=
67. Fugitive Slave Acts of 1793 and 67. 1793 9 1850 =T A YATIATHT hII
1850 were passed in .................. . hIS HHA hell 2
(A) Japan (A) ST
(B) USA (B) A&
(C) South Africa (C) <feqor AftRent
(D) India (D) ¥Rd
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68. The British Parliament abolished

69.

slavery in the British Empire in the

VEAT ceeveeviirieeeeaannns .

(A) 1832

(B) 1834

(C) 1833

(D) 1842

The first major event of granting

rights to people was the signing

Of e, .

(A) Magna Carta

(B) Bill of Rights

(C) Petition of Rights

(D) Declaration of Rights

MAY - 10316/III—A

68. fafest amTsaNe TAmART fafes Twea

i g el

(A) 1832

(B) 1834

(C) 1833

(D) 1842

69. TR TFh U Tfec! Hewaqul el

(A) T TRt
(B) o1 @i wdew
(C) UfevH 3w U™

(D) feTilvm % TEeH
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70. At the instance of the Allies, the

71.

Ottoman Empire was dismembered

in 1920 by the .......cccceeeeee. .

(A) Treaty of Versailles

(B) Treaty of Amiens

(C) Treaty of Sevres

(D) Treaty of Frankfurt

Who among the following Chinese
Communist Party leaders, was the
most prominent victim of the

Cultural Revolution ?

(A) Liu Shao-Chi

(B) Liu Yung Fu

(C) Liu Fang Wei

(D) Ho Lung

MAY - 10316/II1—A

70. T TSN SMRMe S A WA

71.

forere ShIv[c TRITHR A0Ad 3Tl ?

(A) =gFAE=T 8

(B) 31H=n %

(C) T=d=n 8

(D) ekl 8

AR Sidl AgwaTdl el et

fofl 9rEgt e Sar i 2

(A) Tors wmelt =ht

B) fas g1 ®

(C) o8 Wi =i

D) B T
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72.

73.

Which US President endorsed
the Department of state’s decision
to send volunteers overseas to meet
the requirements for skilled

manpower ?

(A) Harry S. Truman

(B) Theodore Roosevelt

(C) J.F. Kennedy

(D) George Bush

What do you understand by

‘Mulatto’ ?

(A) Escaped slaves

(B) A person of mixed race, usually
with parents of European and

African origin

(C) An African

(D) Long-distance trader

72.

73.
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FIEA AT THBIvaErEdl TR e

EHES TSavIrAl el e

(A) & Tm. 7o
(B) fusiEr e

(C) J. Th. HAS!

(D) SifSt FE

‘g’ WS & ?

(A) Y3 il e

(B) JUU o 3Tfthehl Gem=N STEafSar

fasr gadt

(C) 3Tftherd

(D) o= Yoodre IR
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74.

The turning point in the history

of apartheid was de Klerk’s

74.
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JUfET=A  3faeTeTdell hoAeuit S U]

St Foaeh ATAT HEOET fGad heaRl

announcement in February ......... S T AL B
(A) 1990 (A) 1990
(B) 1991 (B) 1991
(C) 1909 (C) 1909
(D) 1919 (D) 1919
75. Who wrote, “Man is born free, and | /- "I ST T ST T el
, JEAH el Far” TH Hivl
everywhere he is shackled” ?
fafeat ?
(A) Galileo Galilei
(A) Tifafast et
(B) Baron de Montesquieu
(B) sRA-EI-HIN&R]
(C) Jean-Jacques Rousseau . -
(C) S Sy &4l
(D) Adam Smith (D) sfeq foag
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